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Secondly, English Language

Choose the correct answer from a b ¢ or d.

a) about

a) weigh

1-Raya was the ................. He played the violin,
a) orchestra b) soloist  ¢) chorus d) feacher

2-She was taking a nap when the camel ran ..................

b) by ¢) from d) out

3-Johnathan was taking the rubbish .............. when the parrot flew by.

b) from c) out d) to

4-When black bears are born, they ....................... eight fo sixteen ounces.

b) weight ¢) weights d) weighs

...................... once a month.

a) cut hair  b) hair c) haircut  d) cut
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Fourthly science part

Choose the correct answer:

T-.ccoe.... s from the bad conductor of heat.
a. Copper

b. Aluminum

c. Wool

d. Iron

2-........ System is responsible for controlling and communicating the body.
a. Nervous

b. Digestive

c. Respiratory

d. Locomotory

3-The unit to measure weight ...........
a. Gram

b. Kilogram

c. Newton

d. Cm3

4-0Oxygen gas represents ........ % of air volume.
a. 12%

b. 21%

c. 78%

d. 0.03%




Fifthly :Mathematics part

Choose the correct answer froma,b,cord:

(l)lfiz £ s Ehen X2 = ... b
6 b

o L S b) 18 e 1§ d) 22
(2) If the volume of a cube is 27 ¢m? , then its edge I = e e cm
a) 3 b) 9 e S b U )

» (3) The ratio between the circumference of a circle and its radius = ...
b) m: 1 2w el e d} 1:8

(4) If the length on map is 3 cm ., and the real length is 9 km ., then the drawing

= B b)1:3000 c) 1:30000 d)1:300000

(5) The quadrilateral in which its diagonals are perpendicularis ........
a) Rhombus b)rectangle «c) trapezium d) parallelogram

- (6) The range of the values 13,7 ,9, 15, 10is ............
=) ARl o) c Rt o PRI Bl i
(7)A student studies 21 hours weekly . then the rate he studies in one day =
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Secondly, English Language

Choose the correct answer from a .b .c or d.

1- Look out! There is a bee ...................... you!
a) front b)behind c)across d) next
2-When she ................. little, she could cut out a heart.

a)is b) was c) did d) does

3-When we were young, we could ................. a ball.
a)throws b) threw cl_t_h_r_c_)_vy d) through
4-This sand castle is huge. It is ....cocoveeveveeienen.

a) happy b) sad cwq_s d)small
S-HOW svevssesssemssrsnrsins coffee do you have?

a) long b)much c¢) often d)many)

..................... M_,C- xa (Y
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Fourthly science part

Choose the correct answer:

1-The body weight on the moon surface equal ........... of its weight on earth.
a.1/4

b.1/6

. 1/2

d. 1/5

2. Are example for voluntary muscles.
a. Trunk muscles

b. limb muscles

c. blood vessels

d. (a.and b.)

3-Medical thermometer range from ........... Celsius.
a. 93
b. 37

C. 99

d. 42

4-Clear lime water becomes turbid when ........ gas passes through it.
a. 02

b. 03

c. N2

d G2




Fifthly :Mathematics part

kA e %
a) 19 b) 20 c) 21 d) 80
(2) A cube its edge length is 10 cm, then its volume = ...........cm
a) 10 b) 100 c) 1000 d) 10000
(3) 12 % of 500 km = ........... km
a) 40 b) 50 c) 60 d) 70

(4)All the following are descriptive data , except ..o
(a)Color (b) age c) place of birth d) name

(5)6 hours : % day

(a) 2l 1) R | (ef1lz6 (el a2

(G iy is a parallelogram in which one of its angles is a right angle
(a)rectangle ( b) rhombus ( c) triangle (d) trapezium
(7)2.65 Liters = ........... cm?

(a)26.5  (b)265 (c)2650  (d) 26500
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Secondly, English La

nguage

Choose the correct answer from a ,b ,c or d

...................

1-The pilot usually has an overseas

a) fight b)fly c) flight
2-My brotheris a ..o
a)best b) pest c) bad
3-I'mM OINEG 10 ceccovvveremsvermsrssenesassonsans vegetables. We like
a) chop b) eat c)slice
B
A-BAOSE ACTOTS - mumnsemmmmmsar e s ames scenes before
a) rehearses b) reform c) rehearse
s dplis kst
5-Does your sister wear a .......cocoeee ?
c)gloves

b) wig

a) make up

Once a month.

d) follow

He always bothers us in our study group.

d) pet

it to be small.
d)buy

their performance.

d) recaps

d) nap
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Fourthly science part

Choose the correct answer:
1-Cranial nerves number is ......... pairs
a. 12

b. 24

C.al

g 33

2-When we put the medical thermometer in a boiling water it will ...........
a. Shrink

b. Evaporate

c. Break down

d. doesn't affect
3-oxygen gas is collected by ..o
a. Downward displacement of water

b. Upward displacement of water

c. Downward displacement of air

d. Upward displacement of air

4-0ne newton is almost equal to weight of an object whose mass is ........... grams.
a.l

b.10

c. 100

d. 1000



Fifthly :Mathematics part

(1) L =d30% %45 % ) = it

) L b) 1 & d)i

. 2 C)4 4

210t ek RO L s ne i sesmis

a) 1:4 b)l:2 o i ol ol

(3) The volume of a cuboid whose dimensions arel0 cm, 30 cm , 40 cm equals

|, b)120  ¢)1200  d) 12000

(4) The quadrilateral ABCD in which AB = BC = CD = DA and its diagonals are equal
g (e T o ] P e
a) square b) parallelogram c) rectangle d)rhombus

———— -

(5) ifthelength in drawingis 5 cm, and the real length is 15 meter, then the
drawing scale = ....ccccveveeeen.

a) 1:3 b)1:30 c) 1:300 d)1:3000
(6)  Acarwalks 360 km in 4 hours then the rate of the car =.............. km / hour

gl 80 b)a0 c) 100 d) 120

(7) All the following are quantitative data except ..............
a) Age b)length c)weight d) name



